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- Infrastructure / Assets / People (IAP)

- Climate Hazard (CH)

-

Risk & vulnerability (RV)
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- Ada ptation solutions (AS)

Cost-Benefit analysis (CBA)

Climate Adaptation Pathways & Plan (CAPP)
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Crisis Management (CM)
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LIFE

In a nutshell

Estimation of the economic losses related to the occurrence of a certain hazard on

a specific asset. v
The aim of M3 is to assess the actual situation of the assets. The actual losses are

defined through the evaluation of the Expected Annual Loss (EAL) by the

combination of the three main aspect of the risk assessment, such as hazard,

vulnerability, and exposure.
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Determining “losses” means to estimate the scale of the
consequences of an event
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TERMINOLOGY

Irorpsi = IPpsi + [Dpg; + IRpg;

Total Impact
Impact on Impact on Physical Impact on Service
People(Q%% System 4 Continuity /)
=1 o~

The economicloss is a function of several data:

Physical characteristics (Asset dimension, Year of construction, Construction cost, Avg. peopleinside
the asset, etc...)
Context data (Closest asset, Influence area, Regional GDP, Regional population density, etc...)

Resilience indicator (Preparation, Internal resourcefulness, External resourcefulness)
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v

Itor,psi = Ippsi + Ippsi + Irpsi
Iror psi = f(Char,Contex, Res)

CHARACTERISTIC & CONTEXT
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Total impact per each damage state
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METHODOLOGY — MODULE 3
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Itor,psi = Ippsi + Ippsi + Irpsi
Iror psi = f(Char,Contex, Res)
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Climate Hazard
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HAZARD

Hazard curve
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Itor,psi = Ippsi + Ippsi + Irpsi
Iror psi = f(Char,Contex, Res)

Infrastructure /
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CHARACTERISTIC & CONTEXT
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Infrastructure /
Assets / People (0)

These modules take the asset characteristics and context
information from MO

These modules take the hazards characterization from M1

Climate Hazard (1)

These modules considerthe assetvulnerability definedin M2

CONNECTIONS WITH
OTHER MODULES
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MODULE 3 1/0

INPUT OUTPUT

e 1. CurrentEALof the Asset
e OO VA=l 1. AssetCharacteristicslist

Climate Hazard 2. Hazardtype & characterization

3. AssetVulnerabilityinformation
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